Lesson 5 Correct Numbers [30-40]
Name

Place a circle around the correct answer below
Scan the QR Code to check your answers.

ADDITION

SUBTRACTION

1. Which is Not a way to make 307?
A)10+10+10

B)16 +4 + 10

C)15+6+4

D) 14+ 14 +2

2. Which is Not a way to make 35?
A)22+5+8

B) 12 + 13 + 10

C)15+10+15

D)15+15+5

3. Which is Not a way to make 40?
A)20+13+5

B) 15+ 15+ 10

C)16+12+12

D)18+2+20

4, Which is Not a way to make 29?
A) 12+12+5
B) 14+14+1
C) 16+10+4
D) 12+9+8

5. Which is Not a way to make 38?
A)15+14+9

B)13+17 +8

C)14+14+10

D) 16 +13 + 7

6. Which is Not a way to make 33?
A)20+10+3
B) 18 +14 + 1
C)16+16+1
D) 16 +10+ 8

1. Which is Not a way to make 30?
A) 40-10
B) 37-3
C) 39-9
D) 37-7

. Which is Not a way to make 35?
A) 40-5
B) 39-4
C) 38-3
D) 37-4

. Which is not a way to make 25?
A)40-15
B) 38-13
C)33-5
D)34-9

. Which is not a way to make 18?
A) 40 - 22
B) 30-12
C)34-16
D) 30 -18

. Which is Not a way to make 16?
A) 24 -8
B) 22-6
C) 19-4
D) 25-9

. Which is Not a way to make 18?
A) 22-4
B) 28-9
C) 25-7
D) 29-11




